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I xprlisting all those who are liable for nw »1°a nn'n and some who are only nanrRa and two disputed violations
a  wnYoPITn
i Anyone who ate 520 —v. 1, which implies 20 as per 177 — not yet separated, via v. 2 ("Mn0 NN YIRY RNV 1712)
1 Question: why not infer from v. 3 ("\m3) — N>
(a) Answerl: eating 520 is more similar in character to N1V NMIN IRV RNV 172
(b) Answer2: use of plural (95n :3mY5m) as opposed to singular (59n)
ii A RXnvjnd that ate nnyIN - as per v. 2 — note; limited to NNV MM, as opposed to nknY MMM, already Y5 N
iii -1 that ate nm N — as per juxtaposition of vv. 2, 4
1 Note: 11 disagrees, giving mpYn, as DwTpn 'n "X interrupts juxtaposition
iv 91 that performed nmay-v. 5
v &nv that performed nmay — per v. 6, via 919n::5%n from v. 2 (not v. 3, as use of plural in v. 6 ties to v. 2)
vi ™M1av that that performed nmay — v. 7, cannot be about wnww rno (v. 6), must be »11v
vii A om0 that performed nay — v. 8> w/o nnnd »m3, they are like o1 - v. 5 applies
viii A 183 90nn that performed nmay from v. 9, implying that before bringing n75v 1p, she is kv — v. 6 etc. apply
ix A2 who performed nmay without washing hands and feet (2’237 01 pIn7 R5W) - as per v. 10
x A3 who performed nmay while drunk on wine —as per v. 11
xi A 13 who performed nTay as WR7 ¥178 (over a month since haircut) — as per vv. 11-12
b Only mn
i 9 who performed nmay - per v. 13
ii 118 who performed nmay — by inference from v. 14; since only learned from inference, cannot be used for w1
iii 1m3 who performed nmay while seated (awy) — as per v. 15
¢ Disputes nnon/an
i o Yvawho performed nmay
1 a7-onvranmmas perv. 16, viav. 5, via v. 2
2 onon-only nnR; 12 in v. 2 excludes oin Hya
ii ~ Deliberate 7
1 37— onw rra nmn; via RVN::RVN from v. 2
2 onon-only MnR; 12 in v. 2 excludes nHyn
II  Analysis of end of 't mwn: dispute nnan/y™ whether 91 that did nmay is pan 2»n (¥™) or DNV *1a AN (DNIN)
a  Np7Ix 9RYNY "1 compares v. 17 with v. 5 = onw »1a hnen
i p”r compares vv. 17-18, just as 1"y5 1) gets NpY, so does YHVY
ii 7227 makes same comparison=> pan
1 Point of difference: whether 1"y5 823 gets n’pv (1217) or pan (V™); our MW is W™ per Y™7; RN»72 — 1127 per Y™
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